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Bnsate someone if you have damaged his or her property in some way.
> Which situation below is the best example of Restitution ?
eena’s camera and the lens shatters when it falls on the ground because he
he case. When Zakir returns the camera, he tells Leena that he will pay for the
ig
fows her neighbor’s car, and when she returns it, the gas tank is practically empty.
logizes profusely and tells her neighbor she will be more considerate the next time.
asks Tanmay to check in on his apartment while he is out of town. When Tanmay
es, he discovers thata plpe has burst and there is a considerable amount of water damage.
calls a plumber to repair the pipe.
a suspects that the pothole in her company’s parking lot caused her flat tire. She ells her
boss that she thinks the company should pay for the repair.

AR TS S TR TR

Frsfafaa wor 1, aufaren gaen + fafim 18 e 70 € 59 T A Sifteh U s
T 2| fou o fashcdi 6 9 9@ 98 gAT |
ng question, various terms of an alpha
wn by (7 ). Choose the missing tem
bedf ? hj_ 2 TSE.
(b) im :
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the Parliament

._‘ﬁ\?ﬂﬂﬁ% 9 G ol ST S gl
(b)  FHT
(d) =St
“also known as Sorrow of China or Yellow river.

(b) Mekong
g tsangpo (d) Yangtze

S i ~gran Hien Sire s =ife, wfe @ 23 | ol s @ s
hat least number must be added to 1056, so that the sum is completely -

2 (by 3 (c) 18
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type of forests.
a) 1 alay )T Mangrove forests

’ Fip o i 7 ‘ ' Tropical Grasslands
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-26) : w3 aiit Frafafed
(25-26) :  PrAIE ST Y ST T i R ————

: : 4 = : W,W
' g,%?ﬁggai?ﬁﬁ—mmﬁwaﬁ; 5

(id) ﬁﬂwﬁaﬁﬁﬁaﬁwaﬁ,mmﬁmqﬁﬁ; by o
(i) R R A S T iR Q T RS | FHerehl T b
(iv) sﬁmawﬁmrﬁaﬁ@maﬁl o

(v) gaé,ﬁﬁﬂaﬂﬁﬂé@wmq@?éf%l NE

d answer the questions that follow : (@)

Read the following information carefully an :
travelled to five different cities of Chennai, Calcutta, Delhj, ()

3 Five friends P, Q R, Sand T :
(i) ive friends P, Q five different modes of transport of Bus, Train, Aeroplane, Car

Bangalore and Hyderabad by ‘
and Boat from Mumbai.; -
(ii) The person who travelled to Delhi did not travel by boat; ferem
(i) R went to Bangalore by car and Q went to Calcutta by aeroplane; (a)
(iv) S travelled by boat whereas T travelled by train. (b)
(v) Mumbai is not connected by bus to Delhi and Chennai. (©)
5 . h d
25. T S Sfe frefarad § @ S 9 A 9 @ 2 §.n)y<
() Ret-=8 () = -TM () <o - 5@ ) T A FE T Lot
Which of the following combinations is true for Friend S ? (@)
(a) Delhi - Bus (b) Chennai - Boat (c) Chennai- Bus (d) None of these ?C)))
: X @
26. = SR A & YA H (TEAErEd § 9 S 9 G e T8 e 2
(@) P-=9 () Q-TWEEN () T-TESES (d) R-HN .
z:’)iuc};)othhe following combinations of person and mode is not correct ? @
- Bus (b) Q- Aeroplane (c) T- Aeroplane (d) R - Car (c)
‘Ped:
27. Trefafed @ @ =i @ sefifes siter T 32 (a)
(a) T S (b) wRH .
(c) : A YA (d) TEFEREE 33.
Which of the following is not a valid arithmetic operator ? (@)
(a) Average Deviation (b) Sub el
(c) Multiplication e o
(d) Exponentiation (©)
28. frefafad § | &9 o1 39 o 3 > ' ()
(a) fam 5T HIHISIE 5T e foan e o 2 o
o (b) A . (c) UG d (a)
ich ,Of the following web search engine was developed by Mj (d) ereerfa (b)
(a) Blng (b) Yﬂ |]< () (C) G y ICI'OSOft ? (C)
- : cogle (d) Altavista (d)
N-01/C 8 —
N-01/C















(b)) T (o) TR
al repository of high-quality teaching-learning resources and students is
(b) PRAKHAR (c) NCPEHE




o

he AutoSum functionality in the Status bar ?
(€)  Product ()

Sum




ns against parents and children.
bping in local bodies and Panchayats to ensure that every
e school.

inging awareness and involving communities by organiz nukkad natak, givi
ards and recognitions to mothers and children £0ing the school.

and (II) (b)  (II) and (IV) (c) 1 (I (1), (1) and (I8







nect between school and the child’s home.
omplete extensive syllabus. '
base the learning process.




e years (b) first seven years

) .f-irst eight years (d) None of the options
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THS

(iv) 9183 9 |
B (ii), (i) 2 (iv) 7T 96 3 & (i) TSI I |
¥ (i), (i) 3 (iv) AT 95 3 A (iii) IE3 |
¥ (i), (ii), (i) 2 (iv) 979 AT T3 |







92. frfafea & § Sfeq weam =i fafga =t -
(a) iR (b) A (c) e d) &M
93. frefeiiad e & Wt foredianelen s forfen o
Sie-)
(a) TS (b) gt (c) erilg (d) fase
94, fr=faRad qeEd 1 wa ot fafeq i)
38 H S AR TR L WY
(@) N 3Twel A TNy Al % = H GEEA T ST
(b) = 3rwedt A e SAfeRE % Wi H @R
() ST T THH TEAH
(d) TEd JRE FE
95. T faeredi # 9 sl 3% W we=M R fafgd &
(a) <9 - wrE, faum, s (b) =9e - <=, foste, T
() =9 - ¥, HRO, Haas (d) AT - Treidt, 3, RET
96. Choose the correct synonym for the underlined word in the given sentence :
During the diplomatic negotiations, the ambassador couldn’t help but display his supercilious
demeanor, subtly implying that he held a position of unassailable power and authority.
(@) Confident (b) Decisive (c) Patronizing (d) Calm
97. Rearrange the parts of the sentence in correct order.
There are
P.  reports that toy shops and other
Q. to prepare for the Christmas rush
R.  non-food retailers are struggling to
S.  get enough stock into their warehouses
(a) RPSQ (b) PRSQ (c) SQRP (d) QRPS
98. Identify the most appropriate one Word Substitute for the given group of words :
Leave or remove from a place considered dangerous.
(a) Evade (b) Evacuate (c) Avoid (d) Exterminate
99. Find the correctly spelt words.
(a) Ommineous (b) Omineous () Ominous (d) Omenous
— N-01/C 21 P.T.O
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' quence so as to form a meaning
(100-101) : Rearrange the following five sentences in proper sequence s0 as 10 & _ /

paragraph, then answer the q!ltsﬁoﬂs__gviVEEi bt,loy:: PR T AN |
After Examining him, the doawrsmﬂed at him :

Thinking that he was reaﬂyguifwhiﬁ fﬁ
That day, Min! h’ /¢

from his b e he was
] :

>

%
|
[ ]

rd in the paragraph

(c)

the word “Irascible”.

1 “-'.,..' “Te
Reluctant | Determined

s being made in the cage by the parrots.

ol "-‘:;::-}”:im.e'- .
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107.

108.

109.

110.

111.

1112

113,

frefafan o A 9 o gan s = @ 2

(a) T (b) A () 5= (d) Hofiferm
Which of the following is not a micronutrient ?

(@) Manganese (b) Boron (¢) Zinc (d) Magnesium
9 H Ieqel 3 /2§

(@) Sfefe (b) 9 == () &3 (d) FTH 9 =1 &
Excretory organ/s in an earthworm is/are :

(@) Nephridia (b)  Moist skin (c)  Both of these (d) None of these
iy S & aifyr ) e W 3ify 3% F @i R g A 2

(a) FrRR (b)  STEHTRGR (c) reftE (d) =g
The worship of fire in the indus valley Civilisation is proved by the discovery of the fire altar at :
(@) Surkotada (b) Alamgirpur () Kalibangan (d) Chanhudaro

T &R T e i § 240 ottt @ 1 3% 71f 40 fapetl/sier w7 4 v, N WHF g8 T FE T 1 ey
T T € | R F et T R 2

(@) 50fEd/sa  v) 60 fm /H (€ 70fRA /S (@) 80 fm /Ha

TaE 9 9T g gl

Four prime numbers are arranged in ascending order. The product of first three is 385 and that of
last three is 1001. The largest prime number is :

@ 9 ®) 11 © 13 d) 17

15,625 %94 W9 WEM & fow 16% wﬁra&ﬁﬂﬁwﬁgmmﬁﬁﬁw@aﬂwmwﬁam%:

(a) % 1,851 (b) = 1,941 (C)aE NP 95 (d) = 1,961
Find the compound interest on Rs. 15,625 for 9 months at 16% per annum compounded quarterly.
(a) Rs. 1,851 (b) Rs. 1,941 (c) Rs. 1,951 (d) Rs. 1,961

THR & IHT HeHl & I T H qeem S it S T

(a) 9RG % IqUpafa | (b) THHW sreAE

(c) THEY & FYMfd (d) WRA % FEEE

The joint session of the two houses of the parliament is chaired by the :
(a) Vice President of India (b)  Speaker of the Lok Sabha

(c)  Chairman of the Rajya Sabha (d) Prime Minister of India

N-01/C




120. 7% 71 S e

If the product of two numbers is 72
(@) 12 (b) 8

N-01/C
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121. 3%%@%8%%@%@%@%%%%%?(Tr=22/7ﬁ?ﬁrq)

@ 210128 1) 20743 ek () 10842FH: () g1 aefe
What is the total surface ares of a cylinder with radius 3 om and height 8 cm ? (Take 7 = 22/7)
@) 210.12 cme ®) 20743 em2 () 10842 e (d) 88.12 em?

122, TR % weed g frad &1 fm s &2
() Toum oW & fraffn gee
®) o oz % Fraffs e
: (© =g WY g9 g
. @ IS
The members of Rajya Sabha are elected by
. (@)  The elected members of legislative assembly
\ (b) The elected members of Legislative council
3 (c) By direct election by the people
y. (d) None of these

el by s

§ 123, R AT P, Q, R 3t S ¥ SIS H: 1.33, 3.68, 2.47 3Rt 1.86 §) Frafafes & 3 frg o 5
S Ft e stfiam et

(@ P (b) Q (© R d s
124. 000216 F1 Sqw g1
@ .6 (b) .06 (c) .006 (d) ¥ | =i 7
The cube root of .000216 is :
(a) .6 (b) .06 (c) .006 (d) None of these

125. U =AM 12mmﬁw%qamtm3msmmﬁmmwmmaﬁhmm@r

A trader buys a computer for Rs, 1200 and sells it for Rs, 1500, What is the percentage profit
€arned by the trader ?

@ 10% (b) 15% (0 20% (d) 25%

126. 0.625 % Fua fum a4 2
What is the fraction equivalent to 0625 ?
(a) 25/4n (b)Y 5/10 (c) 5/8 (d) 50/80

—_—
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acceleration due to gravity _

Has the same value everywhere on earth

Has the same value everywhere in space
Varies with the latitude on earth

on the moon due to its smaller diameter




(d)  None of these




T!le difference of a number consisting of two digits and the number form
digits is always divisible by

(éi) 5 (h)
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